WEZHT AN SIB SMTHELHER FHE

(HEHE] & 4R X155 760

1) x2°—64=(x°-8)(x°+8) =(x—2)(x2+2x+4)(x+2)(x>—2x+4)
2 a:b:c=1:2:3%Y, tx0II/LTa=¢t b=2¢ c=3t LB L&,

(5R)<>3-t+2-2t+1-3t=20
IHERNT, t=2

3 <2x—%>6 DEBRO—REIZ

1

WzIZ, a=2

¢C, - (22)°7 ,<_7)’:6C/'<_1)r.x6727

EBIHIZ 6—2r=0 OD&ET r=3
6C3'23'(—1)6_3=—160

Lo TEHEIK

@) x=1-2i 75 2+ax+b=0IZRATSL

(1-2iP+a(1-2i)+b=0
(1-6i—1248i)+a—2ai+b=0
(=11+a+b)+(2—2a)i=0

EH x, yIIHUT a4+yi=0 < x=0, y=0TH 205,

—114+a+b6=0, 2—2a=0

INERNT, a=1, =10

Wwxiz, AER 4+ r+10=0 2RBIFIE I

2 +x+10=0
(x+2)(x2—2x24+5)=0
£oT, x=—-2, x2—2x45=0
2RFABR x*—2x+5=0 2FRNT,
x=14+2¢
PEXY, Moz -2, 1+2i

EBURED n RAEBANPNERBREL2 E DL X, TOHRBERBEETH D
UMoT, a,b NERTHENS x=142{ LETHS
SRABRR 2 +ax+b=013 x=112i ZERIZEONS,

r—1=42 < (x—17%=—-4
< x2—2x45=0
&V, x*—2x+5THVEIND

EIVELODBE aTBY, (x—a)lx?—2x4+5)=x°+ax+b

ZEiDERFEL TRELE TSI LT,

—2—a=0, 2a+5=a,

PE&Y, Mof#id1+2i, -2

—5a=b
UEMoT, a=-2, a=1, b=10

(B) Px)% (x—=2)(x+3) TE-ALXDE%E Qx), RY%Z ax+b LT3
Dk, Plx)=(x—2)(x+3)Q(x)+ax+b
Px)% x—2, x+3 TEoERUBZNENG, 10 THEN5,

P2)=2a+b=5,
P(—-3)=—-3a+b=10
ULiWo>T, a=-1, b=7
MEXY, —x+7
6) Plx)=x>—6x2+21x—26 £ B &,
P2)=0THzMN5,

REBEHE LY Px)iZ x—2 TEVHINT,

P(x)=(x—2)(x*—4x+13)

FFE1eh2eh -1 enfarfRAL
THD,
RREITEBEONE (EBLE)

(10

(x—2)(x2—4x+13)=0 &V,
x=2, x*—4x+13=0
2RFER 22— 4x+13=0 2fRNT,
x=213i
UEDR-T, x=2, 2+3i
H BODEEZES (a,b) 2 T5L, A, 2) &Y,
";“1, %) <H5
ZDEMMPER x+2y—10=0 EIZHZDT,

“;“1+2-b7+2—10=0 YT a426=15 D

&4 AB D M DJEREI (

7, EROWIE —2, ER ABOEEIZ 22 tha

IO 2 EREE CEEROT, —3 2=
£oT 2a—b=0 - ®
@, @ LVEZAEREHNT a=3, b=6

L7=->T, B(3, 6)
EROFRERIT2x—y+£=0
Sz2o6N-BEBREAVEEREZEDODIL,
MDD & ERRDFERE d DNERUTTHD L XTHS.
HOHOME(0,0), ¥EIX1THENS, d<1
[2:0—1-0+4
N
LEA>T —J/5<ksV5
POERZREE (x, y) £ T3
AP:BP =2:1 %Y AP=2BP
Zhid, AP, BPIZLIZETHBHS AP?=4 BP?
&Y xi+(y—872=4{x*+(y—2)}
32243y —48=0

<1 ko<t EEvA

Lo T, 526 e-THRPIROLIIHY,

OLDEERDRIFE X ON=EMETH-T

&oT, ROBHHIE FONER, EEMN40OH
VP4 32 =/ =2 THan5, r=2
5z26h0=Re2TL5%L,

sin6 ++/3 cos@ :2{@0050 —<—%>sin0}

k¥, =—,
k cosa 5 6

sin@ ++/3 cosé :2((:05%7:(:050 —Sin1—617rsin0>

=2cos <0 +%7r>

(1) sin@ +cosd =% ORETE 2ELT,

2
(sin @ +cosf))2:<%>

V3 Sina:—% LiRd aliazﬁﬂ THdMN5,

sin?@ +2sin 6 cosf + cos’f =

1+ 2sinfcosf =

SN

Lo T sinﬁcosﬁ:—%

a’+b=(a+b)>—3abla+b) THZN5

sin®@ + cos®6 =(sinf +cosf)*—3sinfcosf(sin @ + cosf)

-3

1,9 1
_§+E_1_
3 4 13 1 1.5
12) Y% xab® /a7 =a b xa?b? +a7b?7
=al+%_%b%+%_% =db2

(13> 4—log23 % 5310g53 :2—210g23 x 5310g53

log‘l log:27
:2 29 X5 5

1
—§><27 =3

(14) flx)=x2—52 T3

F(x)=2x—=5THBMN5, (1, A1) B2 ERIE

y=AH)=F1t)Nx—12)
y—(t2 =58 =(2t—5)(x—1)
y=(2t—=5)x—t2 -
IhAR (2, —T7) BBBHS,
—7=(2t-5)-2—¢*
12— 4t+3=0
(t=1)t—3)=0
L7=n>T t=1,3
koT t=10r%, y=—3zr—1
t=30Dt%, y=2-9

(15) S(i (x2+1)(x+3)dx+g(l)(xz+ 1)(x+3)dx



WEZHT AN SIB SMTHELHER FHE

(B-1=AB%] 1), Q&SR Q73R (1NTR

1) 0<0<2r DX, %gza+%<%’f ------ DOTH5

: T\ _ \/§ i 2
sm<20 +§> =L witizToR

20 +%:%+27m, 2—;-}—2717: (n I XEE0)

ZD5H O e T DI,

T_7 2z Tz 8z
W+3=3 3373
LA T
0=0 T VE3

LS
(2) rEEDAXL y=—2x, y=mx TNThDLTHA%E2a BLTDL,

tana=-2, tanB=m

LY
tan(a—B)==+1
tana —tanf _ —2—m — 41
l+tanatanf = 1—2m
22Tk, (am—1)—2—m=0
1—-2m
m=3
2o 1 pex, @2m—1)4+24m=0
1—-2m
1
-3

m IZEDEH LY m=3
(B(7) t=sinf +cosf XV W% 2FL T
t?=sin%0 + 2sin 6 cos @ + cos?d
=1+2sinfcosé
oT 2sinfcosf =¢2—1
sin20 =2sinf cosf 5 sin20 =¢2—1

hE y:lsin20 +sinf +cosf +3 IZRALT,

2
_ =1 R S5 ...
y=—% +t+3 WxIz y=gti+i+s )
(1) asin@ +bcos@=+a’+b%sin(0+a)
. . b a -
EELU sina=————,cosa =——— THIN5
N at+b? vat+b?

. . -
t=sin6 4 cosd _\/fsm(ﬁ-f—I) ) i
0=<0<2x THENE —J2=t</2 @

1 5

Ly 05 1 2
y—2t +t+2—2(1+1) +2 ct‘)A
I=VZ, Fabb =T Ors, Bkl y=1 42 >

t=—1, $%bb o=x, %zo)aa'r, B/ME y=2

[B—2 Te#Ba% - M5B 1), @Q&54, 3)(7)3 4, (17TH
(1) 3*—37*=8 OmI%2FTEHEL 3¥_-243"%=64
oT 3+37%=66
MOIZ2%BLT 3%4+2+37%=68
ENEEESHET S L (374+377)2=68

3*>0,37*>0 &Y 3*437">0 THEN5 3°+377=.68 =217

1

1=3"t95k, 1—7:8 DEESLSTEETL L 7—8/—1=0

INERNT, t=44+J17T t=3*>0TH3N"5 t=44+/17

1 1

L7MN->T, <t+—>+<t——>=2t <t+%>+ 8 =8+2/17

t t

&0 T, t+%=2\/17
log,(x°+1)  logy(x*+1)
log,d 2

/e, BEEEELY 22415002 2>0 XY 2>0

@) log,(x*+1)=

THd

%Iogz(x2+ 1) —log,x=1

log,(x%+1) =log,x% +log,22

224+1=x%x4
xzz%
x>0 &Y ng
1
3)(7) 4logex® =4x2x —2% _flog.x THHEMS
log39
y=t*—4f—1

(1) y=t*—4t—1 =(t—2)*-5 A

1<x<27 T, R3F1 IVKRIVNS

log;1 <log;x <log;27 0=<t<3 A
t=0, T4bb x=1 DL EH/AME -1 )@
t=2, §ibb x=9 DL XH/ME -5

[B-3 05 -EHDEZ] 1), Q&5 B)(7)3&, ()7
1) y=8x°4+12446x+1 THEN5,
9y’ =2422+242+6
{(ax+0)"Y =nalax+b) THBENS
9/ =3-2(2x+1)?=6(4x’+4x+1)= 2422+ 24246

© gzﬂl)dt:a LBE, flr=3x'+a

EoT ng(t)dtzgz(3t2+a)dt:|:t3+at:|z:2a+8
WZ2IZ 2a+8=aM5 a=-8
UdioT flx)=3x%—-8
BY7) C:y=—x —4x & 0: y=ax DILEED x BEZ,
FRRER —2l—dx=ax DERETH B, ThefEk
2Hx+4+a)=0 &V x=0, —a—4
—4<a<0 &Y —a—-4<0

skob B &I Slzg(i 74{(—x2—4x)—ax}dx
’ {—x%—(a+4)x} dx

—a—4

)
= S 7<a+4>{x2+(a +4)x} dx

3 —(a+4)
(a+4) xz}

Slzg(i 74(x—0){x—(—a—4)}dx =%(a+4)3

(1) C & xBDRAED x EEIE0, —4 THENS,
0
SI+SZ=S74{(—x2—4x)—O}dx
4

:SO (x%+4x) dx

[, ]
—{3 +2xl

64
=73 +32

-2/

S,=S, &V, 251:%1%5#6 A

2-%( +4)3=3—32ct0 (a+4)°=32
are=y2 (1)

o T a=—4+23%1

0 0 43
51=S {(—xz—4x)—0}dx=—S74(x—0){x—<—4)}dx =—

—4 6

2T =27 THBMG 0<27 <4
WRIZ —4<—442¥4 <0 2H~ET,



WEZHT AN SIB SMTHELHER FHE

[8—5 BHEEtAHEE] (1), @&54, B)(7)3&, (1)7H [B—6CARZ NIV (1), @Q&5H, 3 (734, ()74
[B—4B¥FI] (1), Q&5 B (7)3A, (1)7H (1) FERZEH X HBIHHT Bn, p) IR &% (1) 2 3x—y—6=0, x—2y+4=0DEENY bLeThThm, nrLTaL,
1) ZOBFNONESR o, REEILTDE  a,=a+(n—1)d XD E np X OEEREZZ Vupl—p) THEH5, MG 1), m=(l, —2)
HBAEN U THENS  a+3d=14 o ©) 1 \ 1_2 — : 2
F1913 1800 X - =600,  FEHEEEIE , /1800 X - X = =+/400 =20 =34 (=12 =V10 , [n|l=v1P+ (=27 =45 ,
HENENCRTHENS  a+9d=62 o @ 3 " 373 lml_m =V [l -2 5
@, @ &fRNT a=—10, d=8 2) 100MEL% 3 ER T~ L XTI BHEE X, W m-n=3-1+(-1)(-2)=5 THEN5,
koT, —MEE  a,=-10+(n—1)-8=8n—18 10MHEE % 4 ERIT - XIIENHIREE2 Y LT3 L, cosa =" n 5
@ %5 {a,) OKELFIE (b,) LT 5, L6258 ZHIE, Z=100X+10Y &5/~7, [ml[n] V105 «F
RESEHT (b,) 13 E(X):Bx%:%, E(Y):4><%:2 LENST, 0Sa<e THENS  a=T
2 6,18 54, oo ThEN5, Fik 2 0<t<1IZHUT, LP:PM=¢:(1—-t) £33, PIZLMORSETHY
Yy, THRHIE2, A3 OSHEGITH S, 3 . .
Yol  bo=9.30-1 B12)= B100X+10Y)=100X 5 +10x2=170 OP=(1-10L+0M
VDZ’J:, ngZ 0)(‘.’.% i]’:—_’ :TOA—F?OB ...... @
n— n=1__ -
an=a1+212~3k—1:4+% E(Xz):Ox%+lx%+4x%+9x%:3 ¥z, 0<E<LITHUT
n_kfl ) 1 6 s OP=%0ON
TabL @,=3""43 O BY) 20X~ +1X e +4X = 49X =+ 16X -0 =5 SEATD  h he
DTn=1LT5%a=4MB5hd75, Olkn=1DLIITEHYID, X =kx——7 =" =5 0K+50B @
s iy o THBENS
LT, MR @, =3 4 V)= B g 3 ©,@¢, OAx0,08x0,0AX08 &9
B (7) a,x0 THZN5, WILRAOTHLOES % L2 & (%)= —BX)F=3—7=7 1) o
__7) £
1 _3 —BY)—(EY)P=5-2=1 3 52
Gnvt @u X517 X, iZE_L'CEF)éﬁ‘b SEUL ChER L k:% ’ t:%
L _p, e8<e b,,=3,+1, b=1 V< )= V(100X +10Y) 2
! =W(100X) + V(10Y) op_OA+OB
1) bn+1:3bn+1>$:”’“ﬁ27féé: $oT  OP=—7y

=100%V(X)+ 10°V(Y) = 7600

3 : —_ 101 ﬁl) < )(}) b [¢ })é }_’_li a.p_() "G&E - !:C\:-I_J_'fﬁ'cﬁ)éf) b)
a P—x+2y+62=0~----.®

1 3
e htg=5 (1) po=0.02 &), (1) (7) AfRIZLT
1 0.02x0.98 _ 0.02x7 bLp &Y, bp=—aty=0 @
EoT, #9) [b,+5 | ISHIR S, Al 3 OFHHFIT Jwm e =0 ory o A\
13 s C2x7 1 _ ;m 1
but 272 3 TA0x 245 ~ 100X 7 IhEDIZRALT, Z=—gx e @
e . " . .
L7di>T, #5{b,) D—MRIEIE _ 7(1)0 it £, |1>|=3 THENS, |17|2=9 Xy pzi=9 e 6 i/_\f
3"—1 2
b,= - 2 2 _l _ 2 2 _
2 /A LAntoT  196x - =00028 /5 ®,@,0m5  x’+x +< 2") =9 =0 x=12
1 . _ 9 -
=3 T , B3 {a,} DO—RIEI BLEE )R BEE 51 Am2 DL, y=2, 2= 1

2 0.02 —0.0028 < p=<0.02 +0.0028 x=—2@<‘1§v y=-2 z=1
001725 p<0.0228 ¥ 713 [0.0172,0.0228]  (7) BEXY B=(2,2,-1),(-2,-2,1) (7)

w
2

I
—_



